Cerﬂ NTEAHA INAdHKA BNHKEAHA

CKPEMUTEAHU MAAHKU
PA3SMEPV B MUAVIMETPV

<l fet 30/30/30 =
20,0900 ;I;/ge;?;;ema NAAHKA BUHKEAHA 10
20,1000 ;Zg/g%?;ge/ma NAQHKQ BUHKEAHA 10
20,1100 ;Zg/g%r/]zvge/ma naatika F<oBpasHa 10
20,1150 gg/%e(z)%MJSAHa fAaHkaT*00pasHa 10
20,1200 gg/ge(z)r/]zvgema pAdfika [-oOpasHa 10
20,1250 gg/f;%?rggma nAaHka -o0OpasHa 10
20,1300 S;(/g%;ITMSTEAHa nAaHka -o0OpasHa 10
20,1310 Z(}Zg/a;r;;;ema nAaHka -o0OpasHa 10
20,1320 gg/%%;lzmgema MAQHKA brAOBa 10
20,1350 gg/%e(a)%m;e/ma NAQHKA brAOBa 10
20,1355 | Ckp. naaH. braoa 50/50/115 10
20,1370 CkpenurteAHa naaHKa braoBa 10

40/40/15



20,1375

Ckpen. naax. braosa 30/30/15

10

20,1390

Ckp. naaH. braosa 100/16

10






